F19 Math 114

Final Review

Solve the compound inequality and graph the solution set:
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Solve the inequality and graph the solution set;
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Solve the equation
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12) Use the properties of logarithms to expand the logarithmic expression as much as possible. Where possible,
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16) Find the distance between the points (6, 3) and (4, 1)
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17) Write the equation of a circle in standard form if the endpoints of the diameter of the circle are
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18) If the given sequence is arithmetic, find the sum of the first 30 terms. If the sequence is geometric, find the
sum of the first 8 terms.

a)3,9,27,81,... bl2 7 12 17
3-»-3 B 9 =4 a(n-1)d
3 2o
le~9 =5
S - 2. (%0 s
,3 =3 q’~_5—
< 24(9)s
-3 e
f)%mﬁrn G\som L9
Q,(%v“) '
e S, 79,0 (n-
. g
_3-37) T25(20-) 5
1~3
= 23¢09n)5
L = o s
- <
: L
3(~6sen)
T
= ~l2c¢go
-z

Sg © Asuo



